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Prozentrechnung I - Mixed 

 
Berechne die fehlende Größe, wenn G der Grundwert, p% der 
Prozentsatz und P der Prozentwert ist. 
 
 

  1)   G = 3,43 € P = 90,49 € p% = _________ 

  2)   G =  984,21 m³ p = 0,6%  W = __________ 

  3)   P =   58,67 € p = 1,0%  W = __________ 

  4)   G =   56,89 km p = 0,6%  W = __________ 

  5)   G =  917,08 m³ p = 0,6%  W = __________ 

  6)   G = 35,24 m³ P =  6,83 m³ p% = _________ 

  7)   P =   77,68 m³ p = 0,5%  W = __________ 

  8)   P =   99,32 € p = 1,0%  W = __________ 

  9)   G =  802,29 € p = 1,4%  W = __________ 

10)   G =   48,75 m² p = 0,9%  W = __________ 

 


